Year 6 – 7 maths transition work
Tables search 1
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Tables search 2
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Number patterns 1
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Addition and subtraction
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Fractions 
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Money and measures
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Money problems 
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Rectangle areas
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Use the dimensions to work out the area of each of the 20 rectangles.  Cross each answer out on the grid on the left as you go.  There should be five answers left over.  Put these answers in the boxes at the bottom and add them up to get the total.
Numbers in words
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Read the names of the twenty numbers and cross them out as you go. There should be five answers left over.  Put these answers in the boxes at the bottom and add them up to get the total.

Addition and subtraction
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Work out the answers to the 20 questions and cross out the answers in the left hand graid.  Put the five left over answers in the boxes and find their total
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[bookmark: _GoBack]Cut along the solid lines and fold along the dashed lines to make this calendar.
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1. Shade in one half of each of the following and complete the fractions.
a) b) )

- is shaded Iy is shaded — is shaded
10

2. Shade in the fraction stated.

3 5
a ¢ Dl

6

<) Circle the fraction that is the same as one half.

3. Circle the fractions in the list below that are equivalent to one half.

4 5 6 3 10 3 7

8 9 12 6 20 4 14

4 A cake is divided into 16 equal parts.

Harry wants to make sure he gets more than half of the cake.
Circle a fraction he could pick.

5 6 7 8 9 10
16 16 16 16 16 16
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Work out

a) £326+£133=£......... b) £223+£149=£...

<) £5.50-£160=£...... d) £12.25-£065=£,

Andy has 2.55m of rope.
He cuts off a piece 1.27m long.

How much rope does he have left

Kim wants to buy exactly 10m of fabric.
‘Shade in the pieces of fabric she should buy.

A book of stamps costs £2.88.
James has £14.

Does he have enough money to buy 5 books of stamps?
‘Show how you decide.
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1. Which of the following amounts could you make using exactly four coins?

a) 9 yes/no b)  10p yes/no
o 16p  yes/no d 45 yes/no
e 33  yes/no n 58 yes/no
9 £107  yes/no h)  £126 yes/no

2. Kelly buys 2 CDs costing £9.99 each.
a) How much does she spend?

b) Circle the notes she could use to pay for the CDs.
P
=i N S e T

3. Ben needs 47p to buy a can of pop from a machine.
He only has 2p and 5p coins. Wite down the coins he uses.

j‘g
54
)

4. Matt saved £4 25 every week for 6 weeks.

@) Howmuch money has he saved? ..................

b)  How much more does he need to buy a game costing £20.99?
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468 - 247 = 834-739= 953-668 = 989 +694 =
858 -705= 938 +276 = 330+165= 837-786=
797 +582 = 401+213= 991-890= 207 +205 =
714-178= 963 +897 = 308 +141= 962 +448 =
982-829= 930+171= 779 +528 = 726 +303 =

O] e
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Prime Pirate Maze

‘The Pirates are on the look out for reasure.
‘They can only follow a frail of prime numbers.

‘They can only move horizontlly or vertically in the maze, not disgonally.
Only one pirate that enters the maze will find the treasure.

Beware, there are plenty of wrong trails 11!

‘Find the lucky pirate and the route he takes.

1f you get fime, colour allthe prime mumbers in on the maze.
“This willshow you all he possible pirate frils.

Licesedto The Kings School. Graiam o ks ok
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Octahedron 2020
An octahedron is polyhedron having 8

faces.

In a regular octahedron each of the faces

‘would be an equilateral triangle.

However, this particular model is an

irregular octahedron having 6 faces which

are imegular pentagons, and 2 faces which

are equilateral triangles

itmay be thought of as a cube which has.
had two opposite comers cut off.
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1. Write the next 2 numbers and the rule for each of the patterns.

a) 2,4,6,8, ...

b) 3,6,9,12, ..., ...
<) 1,5,9,13,....,

d) 20, 18, 16, 14,

e) 25,22,19, ..., ...

f) 35,40, 45,50, ....

4. Ben writes a number pattern.
His 5% number is 10.
Write down a possible pattern.

Rule

+2

Rule .......

Rule .......

Rule .

Rule .......

Rule .......

10

2. Use the rule to write down the first four numbers in each pattern.

a) Rule +2 First number = 5 5,

b) Rule + 4 First number = 3

<) Rule -1 First number = 30

d) Rule -5 Firstnumber=45 ..., ... e e
3. What would the 6™ number in each sequence be?

a) 1,47, 6" number =

b) 25,2321, ..... 6 number =

c) 13,18,23, ........ 6 number
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1. a) Count the number of dots in each pattern.
e o0 000 o000
e o0 o000 o000

b) Draw the next pattern.

<) How many dots would there be in the 6™ pattern?

2. Look at the pattern.

Dcamﬁm

a) Draw the next pattern here

b) How many squares will there be in the 5 pattern?

3. Write down the next 2 numbers in each of the following.
a)  7,10,13,.

b) 48,44,40, ....... b

<) 512, 256, 128,64, ........ S

4. Anumber pattern starts 1,2, 4....
What could the next 2 numbers be?
‘Show how you decide.
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1. Look at the number in the box.
5 13 21 30 120

a) What is the sum of the first two numbers in the list?

b) ‘Write down two numbers from the box that are more than 18 and less
than 50.

and

<) ‘Work out the difference between the last two numbers in the box.

2. Putin the correct signs to make the following sums correct.
Use + or—

4 ... 5 is the same as 1 . 2

1 is less than 6

3. Ithink of a number and add 9.

If my answer is less than 16, what number could | have been thinking of?

4. William has 54 football cards.
He buys 21 cards but then gives 9 to his friend Chris.
How many cards does William have now?





